Rajasthan CET (Graduation) 27 Sept 2624 1st Shift Question Paper

i thh of the following options is arranged in deséending order of their storage size? ' ‘' °T 1 ! '
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(A)  Bit, MB, Nibble, KB (B) Bit. GB.KR.MB
ef MB,KB, Byte, Nibble (D) Nib

(E)  Question not attempted / e wa

2 PARAM is a serics of asscmbled in India by C-DA(
(A) Micro Computer (B) M. { omputer
(C) Mini Computer (D) Sup ¢ cmputer
(E)  Question not attempted
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Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A) Third generation (B)
(C)  First generation (D)
(E)  Question not attempted
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! : mmonly known facts, the
Take the given two statements to be true even if they seem to be at variance from commonly .
fie the >tdléments to be true

which conclusion would follow on the basis of given statements?
Statements I: No Apple is B

!

anana,

| £,

£

Some BahﬁIE!E arc grapes. 0

Conclusion II : 1. No Applc_{::_i'm grapcs. 44
IL. ATl Apples are grapes is a possibility. %

£.3
: ; i iven below:
In light of the above statem nts, choose the most appropriate answer from the options give g

¥

(A)  Both conclusion I and 11 follow. (B)  Neither I nor II follows.
(C)  Only conclusion I follgys.
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(E)  Question not attempte
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(D)  Only conclusion II fol!owsi 0
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9 Anoop told Munna, “Yeste%y, I defeated the only brother of the daughter of my grandmfb}%er”. Whom did Anoop
defeat? A E:':i
(A) Son o (B) Cousin ;:1
(C) Brother i (D)  Father s
(E)  Question not attcmpgé __.
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10 If CAT =48, then MOUSE s ‘equal to: =
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1 A set of wires which carric?_ a group of bits simultaneously, that 18, in parallel, and has an associateq control scheme
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12 The name of the first Indian Satellite is :
(A) Aryabhatt (B)
(C) Bhaskar-1 (D) Insat-I ’qﬁ ‘q—E—a"
(E)  Question not attempted /
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Kalpana

(B) <heqAr
(C) RG] (D) FHeI
(E) rfafwwy
13 Which part of the telephone device accepts voice and sends that information in the form of électromagnetic moves?
(A)  Dialer (B)  Mouth Piece :
(C©)  Receiver Yo (378 {D) Cable
(E)  Question not attempted P a N 3
SIS ST T B | Ry mﬁﬁwm%aﬁtm@m%ﬂﬁgﬁmﬁ%wﬁﬁmﬁ?
(A)  srer By wEudy A
(©) ffa (D) Few
(E)  3¥gaRa wa |
14 Which one of the following is not the mode of Social media?
(A)  Broadband (B)  Blogging
(C) - Facebook (D)  Twitter
(E) Question not attempted
ﬁm%ﬁaaﬁﬁa?t:rmﬁ&mtﬁ%mwmm@gﬁzﬁ%?
LAT siede (B)  sitfiry
©) WEgs @) fmx
(E)  oraiE ss .
15 Who oft-he foll(.)wmg space travellers bqrn In India died in spacc.s.huttla of Columbia during itg returning?
(A) Ritu Karidhal (B)  Sirisha Bandla .
(C) Kalpana Chawla (D)

Sunita Williamg
(E)  Question riot attempted
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16  Rajasthan Agricultural Research Institute is situated at which of the following citjes 9
B
(A) Jaipur (B) M01fnt Abu
(D) Udaipur
(C) Jodhpur ;
i t attempte
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17 Ramganj Mandi, also known as coriander city, is situated nea

_— . han?
A i is si r which of the following cities of Rajast
(A) Sn ganganagar 5 v
e M (D) Udaipur
(E)

Question not attempted
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(E) ERawd
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(A) =234 (B) 7=d% 283
(C) 3IT=< 343

AD) I 243
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22 Where is the famous Sikh Shrinc ‘Hemkund Sahib* located? Gl A1) ISLN Ry
(A) Sikkim Himalayas (B)  Zanskar Hi B
(C) Garhwal Himalayas (D) Rk Hl:nztllayas
(E) Question not attempted ma ayas
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23 Sewan, Dhaman and Karad are

S o e

(A)  Types of grasses ; (B) Types of Rajasthani painting forms
(C) Types of folk dances (D) Desert soils i
(E) Question not atlemptedi"éz‘_} - Wed
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Which country’s armed forces were awarded the coveted ‘Golden Owl’
Dec 20237 (Choose the most ap

s ]
award for their outstanding performance in
propriate option from below) =

: b ™
:f(’g ISr::l .Lanka ) . (B)  Singapore L0
: ndia N ' D) Chi |
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25 Who was' appointc.d a?{hc ﬁrst‘fﬁ‘bman Chief Justice of Uttarakhand High Court? %Q
E?j ;hma l;(’:lh j’:sz (B)  Indira Banarjee ¥y
uma ra ] .
: (D). Ritu Bahri
(E)  Question not attemptedt. 4 ' it 2
Fraeht ; o e
(©) T v e gzrrmaﬁ o
o (D) fgemd U
(E) <igaRd .
e B,
26 Which one among the followiiné_iis a “Fossil Park™? _ \G
_ (A) Sariska ?s (B) Ranthambhore M
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27  Which Of:;le oz jr ~; (B)  Audio Analytics - bg‘}:e Rajasthan Government?
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Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 2024’7 @
(A) Tulsi Gowda ' (B) Rajendra Singh ' 3
(C)  Ramesh Agrawal (D)  Alok Shukla : : 0 @
(E)  Question not attempted %‘a
Ter € 3 Frer -8 e iTeefer v < ot e R 2024° 3 R &7 '
) g e @) =R @
(C) TN I (D) e Y
(E) -~ guiass . '
ich of the following is the starting point of the Ram Setu in India? -
(A)  Arichal Munai ) (B) Shivaganga @
(C) Thanjavur e i (D) Madurai ;
(E) - Question not attempted @ [
s 3 a3 & i e T T g 87 e
(A) rfEe g iy Rt : \ﬁ\t“
(©) T (D). WG = @

(E) 31{-_1;'?(3'9’51

“A’ borrows a sum of X 2000 from his friend ‘B’ on 31 December 2011 on the condition that he will return the same
after one year with simple interest at 8% per annum. However ‘A’ gets into a position of returning the money on 1
July 2012. How much interest amount he has to pay to ‘B’?

A 3197 fos B & 31 w2011 a?r?moomﬁm%mﬁﬁ%ﬁﬁaﬁ@aﬁwmﬁ%mmﬁﬁm 'S5
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(a) <100 ® <120
©) T80 . D <90 @—
(E)  Question not attempted / ST o .

Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by 15%, then what will
be percentage increase in his expenditure?

ST ST A 80% @ T Bl A Iah! 14% & 7 ST & S s 15% & 5

wftrra gfe Brft?
(A) 22.25% B) 25%
(c) 20% @r 21.25%

(E)  Question not attempted / Frgafa 94

— pmpor:ional to‘n’andm=>5 when n = 4, then what is the value of m when n = 207
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(E)  Question not attempted / aﬂ?rﬁ'ﬂ o4

After Independence three states in Rajputana acceded to the Indian Union through the
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34 Which of the following is an institutional factor of agriculture which influences the p%:ﬂem and productivity of
agriculture? O ' im
(A)  Chemical Fertilisers (V) (B) Crop Insurance -@
(C)  Size of the holding of field{F\ (D)  Topography £¥)
(E)  Question not attempted gY] . 3%
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35 :Narma’ is associated with which GIop in Rajasthan? [ ‘C g
(A) Tea o (B) Coffee W
(C) Jute o)) - (D) Cotton i)
* (E) ‘ Question not attempted o )Y
TET e i Ry e i-‘rumﬂﬁr v N
(A) =m, PN (B) wTH T
©.¥ - . 4By T L)
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36 For the given sentence, choose théh:ost appropriate answer’from the options below: -
The language and style of a formaﬁétter is- D
(A)  very friendly :i‘:i‘i (B)  polite and brief )
(C) lengthy o (D)  chatty ' 513
(E)  Question not attempted i
: _ o
37 For the word given in Hindi, Chooié?{he most appropriate word in English from the op:igégeiow:
(A) unacceptable P~ (B) untenable ™
©) tenabl.e O (D)  acceptable B
(E)  Question not attempted 's2 ;.{3
g 318 Frdm which gcn:e‘ration of comﬁuie{;the use of Integrated Circuits (IC) started? ?2
~ (A) Third Generation ol : (B)  Fourth Generation pf;\j
(C) First Generation . (D)  Second Generation b
(E)  Question not attempted st ?:f‘i
1od ﬁaﬁqmcﬁﬁﬁwﬁ%@aﬁz(m.ﬂ)ww%gm%? ' -
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39 Who describes Prime Minister as(?fﬁrimus inter pares” (First among equals) and “key stoqgfthe Cabinet arch™
(A) H.J.Laski ' v Eg)) idlu:lridorci N
(C) Raunsary Mu‘fu B L) o y Eg
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Who was the first Lokayukdta of i{ajasthanv
(A) Justice LD. Dua ' '
(C)  Justice Pratap Krishna Lohra (B) Jus‘fce J.L. Gupta _

(E) Questionm attempted (D) Justice S.S. Kotharl,

e 3 T 3‘“?;1'3?53;‘1:{ o _ ; o~
g s mﬁ?ﬂm ® aﬁza@r:g%ggaﬂ
() Fuid ’s:gf; ' ®) aﬁmq%ig

L)
What is the tenu;g?f the Chairperson and Members of the Rajasthan Humian Rights Commission?

(A) 5 Years or upto 65 years of age whichever is earlier 1
(B) 3 Years qrupto 65 years of age whichever is earlier
(C) 5 Years drzupto 70 years of age whichever is earlier iy
(D) 3 Years affipto 70 years of age whichever is earlier - W
(E) Question{@ot attempted 8]
Wwﬁﬁm%mwwﬁwmﬁmﬁmﬁ? O
s o ar g5 A Y g A S AT ®) 3ﬂﬁmg§$ﬁﬁ%ﬁﬁ‘ﬁ“€f@
© o ot o b oy g e S A A ® 3a&w;rg.}aﬁaﬁrafraﬁﬁ‘“ﬁqﬁ€'
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(E) Fgard el wd
Who among the Following was the first woman Governor of the state. of Rajasthan?
; B M <A
(A) Prabha RAE B) 7 M
‘ : (D) Pratlbha{veinl

(© Kamla B&iwal

’ ; d : zi -
(E) Questlongozl attempte 2 o7 -
ﬁmﬁi@ﬁﬁﬁw@lﬂrﬁqﬁw”'%w A O s ¢ S o]
- ® el
(A) T p (D) | SR T
(©) Al 122 o
(E) a:@'rlﬁa o _
N »
Match List-I wil{:&;lst-u- " List-II (Synonyms)
I.,ii'ﬂ}';l bkl : I, esteem {¥}
e gepgtoys 3 [I. ridiculods
b. hopoMr - - : * JIL  achieve £
6. absutd i IV. a:han'tabf‘i-‘:'_‘*_l
d ac&ﬁ,:nplls — from the options given below:
Fappropria® @®) a-1,b-Ic-1V,d
Choose the mos il g1 ) a.]l; A u; -1v,d-1
(A) a-lv’b&‘;_m,d-w | g o= i;)'c"’d'“
(C) a-1, b= ‘ ted
(E) Ques.tin::m{"‘:’nt atismE N
o1 ym of the word “Ancient” from beloW?
iute anto”
Choose the m”—‘:ﬁ:&p rop”! By M0d¢mN
(a) DestroY E) (D) Rough [
© osult e ted ]
(E) Question ot attemP 9
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ns below:
45  For the sentence given, choose the most appropriate answer in rcportcd speech from the options

Ravi said, “My mother is going to lier home town,”
: /('A‘r Ravi sald that his mother was going to her home town,
— - —_——
(B)  Ravi said that his mother had gone to her home town.
.
(C) Ravisaid thm his mother \wll £0 1o hier home town,
(D)  Ravi said that his mother hus gone to her home town,
(E)  Question not attempted

46 The Planning Commission of India was formed on
(A) 19 January 2015
(C©) 26m January 1950
(E)  Question not attempted
I o FISHT ATERT 7 1o g A
(A) 159 2015
(C) 265=adt 1950
(E) rgafawy

(B)  2n October 1950
(D) © 15% March 1950

By 23E 1950
(D) 159 1950

47 Vergheese Kurien is known as the father of whlch revolution i in India ?

(A)  Green Revolution
(C)  White Revolution
(E)  Question not attempted

Fits FiET = vy i ﬁ:qmﬁf%m%wﬁmw%v
(A) eR@wify (B) e tw) wify
O #awmify

(D)  feft wifa
(E) 3Iufawg

(B) Red Revolution
(D)  Blue Revolution

48 Which of the following is NOT a large scale Indust
(A) Ironand Steel Industry
(C)  Jute Industry
(E)  Question not attempted

Fefefad & & .81 v # geq doft maﬁ'%?(ﬁqﬁﬁqa@caﬂ?ﬁﬁm
(A) ©te iR zeara 3

(B)  Cotton Textile Industry
(D)  Khadi and Village Industry

)

: (B) ol et 3gm
(C) 9zEI3am SB1 @t 3R Ty
(E) 3¥dfta u4

49  Chandoli was declared as National Park in 2004. It is located in which Indian state?
(A) Maharashtra

(C) West Bengal
(E)  Question not attempted

2004 T ==<Iell &1 T1a Iam enfua foan mar 1) 4y I & 4 Q) e 3 Q0

(B)  Haryana
(D) Meghalaya

(AT TR (B)  wfwmn
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(E) T -
Al5] ﬁ

[ P.T.O.




Sembl aSSEd i i
e Ob T ’SI’OB(:aﬂ.dE\;h

50
60% to 77%?
(A) West Bengﬁ_"
(C) Kerala & (B)  Andhra Pradésh
(E)  Question nmttem ted [Py Togecang %*ﬁ
FaTsaH frarr Y “; £ et (a8
| TR # 2
a0 3 a6 Feriyares ity forem? : U‘Hm’@a’aﬁ'aﬁ-m-aﬂ&%ﬂ;t{ﬂ.wmﬁﬁo%amﬁ%
(A) afymsTe -
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s
51 Which of the folldwing articl :
o e iighcgmsju‘;‘?oif?gl;:;r:dtie Tzrlirrfem Sto legislate on any-matter enumerated in the state list in the
: _ y the Rajya Sabha with a 2/3 majori i
?:_;l VO'(::i? I(C::)g the most appropriate option from below) a g?onty SEpsem ey
cle \ :
(C) Aricle 54 (N E[B); ‘::’.2:3 ot
1
(E)  Question notfhttempled ) Sj
Frefofad § & HEET uﬁawﬁm%ﬁm@ﬁmﬁa%ﬁ%ﬁmﬁwmmﬁ stfereTe
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52 Among the follom‘ﬁ‘é places in Rajasthan, where is the Pichola lake situatﬁ?
(a) Bhilwara C¥ @®) Karauli €
(C) Udaipur ¥ ° (D) Ajmer P
(E) Question nbt Attempted _ )
meﬁ%ﬁmﬁﬁaﬁﬁﬁﬁawﬁwm@ =4
(A) sfierarst ()
7| FZdX = ) I {=
® FFEID 9
53 The state pird of R‘;‘Eﬁsthan is ___——— ﬁ”i
Godawan (Great Indian bustard ) - (B) BluelJay &
(A) e o] (D) Peacock o
(C) Indian Rol ef": ‘ ]
(E) Question nat‘ﬁﬂcmP‘Ed ' ;;
F1 T qeft |re: 7 '
4 b aeE) (B) Hs v
AT g™ ( e dfe (D) HX
(C) mﬁmf i t"’
(E) i ggr{-g 1i Ranges is the highest? =
7 ring peaks of Aravall . gCER: M
54 which of the fOHO?_fIJ‘L, p (B) Kamalnath¢¥y
(A) Jagra . (D) Raghunathg;
(C) Guwshikhd_f":i 4 * i_atih
. ¢-ttemplc ; p
(E) Q'ucslloaﬂ; “0_ . ﬁ’T@ﬁﬁ .ngf{ ﬁ‘zﬁ?ﬁﬂ'ﬂqiﬁ%? TS|
aqﬂ—a'eﬁ 3{@‘6‘“ ;'% (B) FHAATY ‘f"\i
) Wa-;rm ; (D) TG
HED el a4 11 !
(E) [ P.T.O.
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i j ? (Choose the most
55  "Kalisindh Thermal Power Project’ is located in which of the following areas of Rajasthan? (C
appropriate option from below)

(A) Barmer (B) Kota
(©) Jhalawar (D) Bikaner
(E)  Question not attempted

‘ﬂ?ﬁﬁﬁumﬂumqﬁwﬁﬁﬁf@aﬁ%m%ﬁm@aﬁﬁw

27 (R & w3 e )
(A) =T (B) it
& FEES (D) sftmT
(B) orgaf@ws |
56 Where is the archaeological site of “Civilization of Balathal” situated?
(A) Hanumangarh (B) Ajmer
(C)  Vallabhnagar, Udaipur (D) Mount Abu, Sirohi
(E)  Question not attempted
SIS WA T YO T Fat o 39
(A)  TEETG (B) IR
©) T, IR (D) W a7, Rl
(E) ruf@wy
57 In which year Prithivi Raj I1I defeated Chandel Ruler of Mahoba?
(A) 1191 A.D. (B) 1192A.D.
(©) 1181 AD. (D) 1182 AD.
(E)  Question not attempted
e 1 & ot vt 11f 3 e 3 s e i wa
A) 1191 § L= (B) 1192%,
© 11818 118238,
,r (B CHEARa e 2 21
58  *Saheliyon ki Bari” a popular tourist destination in Udaipur was built by
(A)  Maharaja Surajmal (B)  Maharaja Udaj Singh
(C) Maharana Shambhu Singh-I (D) Maharana Sangram Singh - 11
(E)  Question not attempted -
A 1 G Wik vdes we “wfert it AT e g sEmEr ar |
(A) TERE Hme (B)  WEWIST 35y R
(C)  wmom ¥hy fife-1 AD) TR Ham gy
(E) uRa s
59 In which year the Indian Government launched the New Economic Polic ;
option from below) Y ©f India? (Choose the most appropriate
U @R A g ad § v iy w1y snifeer =fifer st gy e fﬁqﬁﬁmmﬁm :
(A) 1990 (B) 1993 ™
L) 1992 _ D) 1991
(E)  Question not attempted / 3Tifd war

60  Who from the following has the primary responsibility of distribytio
(A)  Food Safety and Standard Authority of India () Employee’s State Insurance
@ el (D)  Food Corporation of India
(E)  Question not fll'.temptcd
syree i Pt & @rer= & farwn 1 v foredvars fanq 4,
(A) ml?ﬂuﬁmgt&ﬂﬁtmﬁmfw (B) , .

() FIARAHA

INCIRR

n of the food grains in Indig?

12
[ P.T.O.
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62

63

Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan” survey +=-

most appropriate option from below)
(A) Ministry of Jal Shakti

(B) Ministry of Tourism

(C) Ministry of Housing and Urban
(D)  Ministry of MSME

(E) Question not attempted

ﬁmﬁmﬂﬂﬁ‘ﬁﬁmﬁaﬁmz:&- 'ﬁnmﬂﬂmﬂ’mu&wmﬁﬁm
(A) ERRGEEISE] i

Affairs (MoHUA)

(o ITEE i wredt T HATTd (D)
(E) Tgaia s
In Olympic 2024, India was at spot in the medals tally?
(X)) 3 (B) 91
(© 17 oy 71

(E) Question not attempted
aﬁﬁﬁﬁzouﬁmqﬁaﬁwﬁ T T ET?
91d

A 37 E] B)

© 173 v @y e

(E) FTea T

Which state hosted Outlook Planet Sustainability Summit and Awards-2024?

(A) Goa B) Tamil Nadu
W (D) Maharashtra

(©) Rajasthan
ion not attempted '
(©)  QuestionnotMEIP o e g rards 2024 A T 7

e T 7 AARTIE e
) uic)| ®) -
(C) e ® :
(E) FrFata I
d to the Comptroller and Auditor General of India?

ents is not tru€ with regar

i f : .

Wwhich © The CAG is appoited by the President of India.

a. The CAG can be removed on the recommendation of the President of Inidia.

b. The salary a0 4 allowances of the CAG are charged on the consolidated fund of India.

c. The Tenure © fCAG is fixed for five years.

- G he options given below:
ropriaté answer from t
Choos¢€ the "'n‘d’-"; Zf}fy P (B) abandd only
(A) 0 :;: :nd d only (D) a,bandc only
C a, '
N attemptcd TeEnl
e 3T &7eh o A T T 27

Faa A FA m%@wﬁ%mﬁﬂ?ﬁmmﬁl

ﬁm‘ﬁ’lﬁgﬂﬂ 1
21 (CAG) ﬁ,ﬂqﬁm(CAG)aﬁm ST HehelT &
e CAG}ﬂaﬁqmﬂamzﬁmﬁﬁﬁﬁﬁiﬂﬁﬂaﬁﬁ
.. a;q(CAG)a“ 5@3?1%7!1&&16@%
d. ( gqﬂ?ﬁﬁ-ﬂi

e ™2 3:(‘3“5”" : ®) ¥, bt
(A) Zaa b, (D) FarcTa, bafte
(C) a;aaa;cah‘(d
) gt 74 13 '
[ P.T.O.




65

66

67

68

e

69

70

Al5]

Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council
of Ministers? f«.

(A)  Article 747 (B) Article75 O
(C)  Article 70

(D)  Article 72 ("r"}
(E)  Questionot attempted
Feifeias #§ & yrdia s s R @ waue wfrafeg it

'.‘"“““

ﬁgﬁﬁaﬂwﬁga@rmr@m%?
(A) T 4! B) RIS
(©) == 103 (D) T2 10
(E)  rqafa yar

v

Complete the sentence by choosing the most suitable article from the options given below:
Please get me umbrella when I go out shopping as the monsoons are appIG?chmg.
(A) No Artl—g@ (B) an ;
© the ™M (D) a ™
(E)  Questioh-hot attempted o)

&N N

Complete the sentence by choosing the most appropriate preposition from the-options given below:
I reached the school the gates closed.

Iy}
(A) by (B) from -
(C) later (D) before
(E) Quesnm%‘grlot attempted -

Diesel engine cbhverts energy from . (Choose the most appropriate opfibn from below)
(A)  Electric €nergy to sound energy

(B)  Nuclear energ§'to electric energy
(C) Chemicdl'énergy to mechanical energy (D) Chemical energyito electric energy
(E)  Questiofnot attempted - &
ST wed uitafila e @1 (o 8 & wed suges frew ) e

(A) 'séﬁzm‘am‘?ﬁmaﬁrf
(C) it ot @ wfiewe Sl

(E) aagﬁﬁ?frra

Choose the mosit apprapriate word from the given alternatives which bears the same relationship with the third word,
as the first two bear.

(B) i Fat & sl St
(D) Hfterer It ¥ FAfes ot

WO
Mountain: Hill{*Tree: ? (e8]
(A) Forest i3% (B) Rain o)
(© Leaf (N (D)  Shrub N

(E)  Questionnot attempted

ﬁmmﬁWﬁ%w@amﬁ%W%ﬁmﬁﬁm%mﬁﬁqmﬁﬂﬁﬁ&mmwaﬁq
wd: 9ETS: : Ug2-d

i
STer SEF

E;; ot [~ - 0w
(B) Fafa ?f \tg}

dd. : ut. (8]
Choose the zcd;jr;"c © (B)  France &y
(A) g:iza ) F (D) Poland v
Eg Quesf.q.g ;““" Rileipt -
e 1 T FL B) W &
A) ’%ﬂm (D) Yrde
27} a4
E) 14

[ P.T.O.
S



71 If in a certain code, O i i
code, is writtenas L, AasH,MasI,SasF,NasT,Eas S
;‘.‘gMPANIES be written in that code? (EasS,TasA,PasGand Cas s
FEHOF L, AFH,MH i
fepefl : ML SH F,NHIT,E® S, 1 : g e
COMPANIES S8 . ; )1 A,PaﬁG@CﬁEWW% )
A
EC; ]GHATFS ’% EHQHNSF o-
EAGHSBSE (D)  ELGHITASF n - H
(E)  Question not attempted / :Hﬂﬁﬂ_rfﬂal m- 1
-
72 ﬁnﬁiﬁaﬂﬁﬁﬁﬁaﬂwﬁwmﬁw: y =T
(A) i ' B) e- €
B B (D) @& R
(E) 3¥IaRa 9 )
U
- G |
Read the passage and answer questions 73 t0 76 : = c 1'-61 HY o
“Stress” -

All people have some stress in their lives. A little stress makes life interesting, apd keeps you on your toes.
However, too much stress can be unhealthy. You may find your life becoming stressful whenevefthere are changes
in your environment, in your relationships, or in the demands you put on yourself.

Stress can also be caused by good things in your life, such as getting a new job, moving to a new place, of
getting married. - o :

How can you tell when your life is getting too wstressful™? You will probably find yourself always feeling
rushed, as though you must hurry everywhere you go- There is never enough time to do everyting that you need to do.
You may find yoursclf walking, talking, and eating more quickly than usuaL, 1%

Besides causing emotional problems, SIress can also cause real pﬂgcal problems. If you have too much stress
in your life, you may suffer from stomach problems, headaches or neck and‘s_hou]_der pain.

Prevention is the best way 10 deal with stress. First of all, be organized- thErg: is nothing so stressful as a
disorganized life. Put your life and your surroundings (your home, apartment or desk at work or school) in order.
Don't pmcmsﬁnate_ Stop putting things off. Do what needs to be done today. On the other hand, don’t always feel
that you have to do everyting right now. Learn to say “no” to activities and commitments that will only add more
strcsz to your life. Remember that you arc only human, and that you can only do one thing ata time.

Learn 10 relax. Slow down. Take a break or a wa;k when you feel yourself getting jtr_qsse‘_cl‘. Find a hobby that

) . listening tO music or creating something with your hands are all great waysto bring some peace
you enjoy- Reading, 115 i - ; : p

 Jife. Learn 10 Jaugh at yourself and your life. Try to look on the bright side of life. Even when things seem
toa hc;ilck am-j stressful, there is usually 2 place for some humor and a smile.
pretty dar ’
oW
use stress? (Choos¢ the most appropriate option from below) ':DaLDf\“}QA- M
73 Whatmay 68222 = "0 g A y{o APP
o you do YOE —_ q
(A) L you go onf:acalion with friends. ﬂﬂl‘ﬁ"" V‘
(B) When Y e changes if {he demands you put on yourself.

when you , =
EIC; When you relax and meditate
(E) Question 7° attemp'

a .
24  HoW m«;c u?mve'; pe 10 vulumce‘rrfurd:;; Yy
ke life €
() you aré relaxe and 1ake I(; :,sh.
(B) .e) full of energy 2" ) ek
(C) e 1 of 1ime 1o do all you need 10 €0.
: ou run sho i

4 .stion not ailf:lllplpd

® X 15 (P
: .T.O.

then hoW will



75  What is one of the appropriate way to manage stress? (Choose the most appropriate option from below)
(A) Take on many assignments together.
(B)«. Do everything by yourself and avoid delegation of work. (~
(O)¢y Plan and organise your work.
(D)ry Rush all the activities youdo. -+~ L ?,‘g
(E0hy Qucstion not attempted - ch
N ' e
76 C]}oqse the mo'st appropriate meaning of the idiom “to be on your‘ yes” from the options below:
(AQL" Take abreak ) (B)  be alert and ready for anything
(q - Putting things off (D) Loolé on the bright side
(E)  Question not attempted
77, Blue Revolution in India was launched during the period : - gy
EREETT ~ 1985-1990 (B)  1990-1995
( _‘ 1975-1980 (D)  1980-1985
( Question not attempted : %))
' lﬁmmmmﬁﬁmﬁnﬁ%ﬂv Y
Ay w1 1985-1990 (B) ®1:1990-1995
(Cy | ®11975-1980 (> ®1i1980-1985
B rEfE v o I
78 1n[which of the following, Rajasthan is'the largest producer in theicountry'? :
(A)H Wool (B) Tea,.
(Q‘jq Wheat (D) Rn:e,E
(E)¥y Question not attempted oy
TR U i et 3 & e wafir s e ¥ P
LAy T ‘ (B) q“j_,_g
@ 7 a1
(E) Fqui@ss - -l
79 Which of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the most appropriate
option from below) e
( Ay Meja Dam (B) Jawai Dam
Ram Sagar Dam (D) Radna'Pratap Sagar Dam
(ES Question not attempted =
i q‘ﬁﬁ%@ﬂﬂﬁﬂ?mm%ﬁmﬂﬁm‘é aﬁaﬁﬁgﬁ%ﬁ%f@mmﬁmm% (et 3 & e s
1 ﬁ%ﬂq =), |
i (A"jﬁ Fsnarsfn |- (B) Eﬁ'l‘sfiﬂﬂ ‘
( T L P) T IET] TR Sy
(). FGHRTR [~
\ ngst the following famous artists, has represented Rajasth"m in the Bharat Utsav in ‘Bahrupia Kala*?
80 Who. a:; a%SSmgh 5 B) Jai §im_.,h Rathore
EC Jamna Lal Bhatt (D) Jank:\. Lal Bhand .

Question not attempted

(Bt ﬁﬁ%ﬂﬂﬁﬁwﬁmmﬁ N WS- U R e

B)  swrfde vl
3 :mrtﬁﬁﬂél% _ L
(W amfn‘enﬁﬂ'i

" ) i | P.T.O
A15] 7 | .



Match List-1 with List-1I

List-I (Chhatn) List-I1 (Places)

81

a. Chhatri of Sawai’ *Jai Singh [ Alwar
b. Chhatri of Musi Rgm IL. Ramgarh
c. Chbhatri of Gopal Smgh 1. Gatore 3
d.  Sethon ki Chha [v. Karauli . oot
@-ﬁmﬁnmﬁaﬂ%@g o
aeft-1 @A) 1) -1 (FT) Y
o ward v iR Al . L gue}
b, qETAR AT . g LY
o o Ried oal~ n. MR ook
4. deidrsad — O v, e '

Choose the most appropriate dnisiver from the options given below:

ﬂ%ﬁqmﬁmﬁﬁﬁnﬁ%mwgﬁ
(A) aWbmcldli“ ,fﬂfambrcwdu'

© aIbHcIIIdl\” (@) a-Mb-Lec-1v,d-IIL,
(E) Question not attempted f?:’[j?lﬂ?l y

82 Who is famous as ‘Wagad Ki Meera’?

(A) Gavri Bai if; ' (B)  Panna Dhai
(C) RanaBai "i‘ : (D) Karmawati :

(E) Question not attempted | n

grTe ht Ha %wﬁﬁﬁﬁ%’)

4y TEAEE ol (B) GATHH
(©) Tomas s (D) e
(E) @@ d - |

83  Kattha is extracted from the inner wood of which tree?

(A) Khair tree Xe) (B) Mulberry tree:

(C) Kultree {7} (D)  Kusum tree
(E) Question not attempted £33
mﬁ-ﬁmﬁmaﬁﬁﬁm%mw@
ik @ e (B) wEq@ds
© T ol D) FEAdE
() AgAi@ 94 ik o

84 Which of the following rivers i;{j_hc Jargest tributary of Indus river?

(A) The Chenab (Y] (B)  The Jhelum

(C) The Satluj (-.T'! (D) The Beas

(E) Question not aitemptcd 5
ﬁg:ﬂzﬁrmaﬁmﬁ reth) F-4 82 k.
(A) = i , &y  wem “A]
(© FIgT ' (D) = !
() IEAR@IA

A15] 17
; [ P.T.O.
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85

86

87

88

In the fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?
(A)  Alwar, Bharatpur, Dholpur, Karauli

(B)  Jaipur, Jodhpur, B ikaner, ] aisalmer
(C)  Xota, Tonk , Bundi, Jhalawar (D)  Pratapgarh, Dungarpur, Kishangarh, Shahpura
(E)  Question not attempted -
TISTEAT 3 TehaHoT 3 <) won 3 foe = P @t e aroreer & farera gamm
(A) S, 9@, *ﬂa‘i(,ﬂ?ﬂ?ﬁ 4BY ST, S, T, UL
{C) ﬂa, aa'-‘, a:fﬁ, Al TS . (D) L GIEUES 3:'-{3(’ 'I%leg,
(B) Fmi@w s 3

When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India :
Singapore?
(A) 23~ October 1943

: (B) 24nQctober 1943

(C)  21= October 1943 ' . (D) 22 October 1943 4
(E)  Question not attempted

et g <% s+ T w5 mﬁm@ﬁm)mﬁmﬁmmmﬁﬂw

(A) 23 7T 1943 : @y 24 AT 1943

(C) 21 3TFT=T 1943 g =% . - (D) 22 3T 1943

(E) Ifaia A

Choose the correct statements from the options given below

a. The British Parliament passed the Indian Independence Act on July 05, 1947
b. This Act was based on the Mountbatten Plan.

C. The Act got royal assent on August 10, 1947.

d.

The Act was implemented on August 15, 1947.
Choose the most appropriate answer from the options given below

‘(A) . a,canddonly (B) b, canddonly m’
(©) 'a,bandc only (D) abanddonly MM 3/
(E):. Question not a’ttempted

e g i Rt § & W P T /s

a  TafedrGEa 05 S[ETE, 1947 S I =T
b maﬁﬁwwaﬂaﬁmmmﬁam
c. HfFRE Y 10 37T, 1947 =\ taw whefy awdn v
d, At (TER) 15 7T, 1947a$rama?{ﬁmml
zﬁ%ﬁaﬂqﬁwﬁﬁﬁuwﬁim‘mmgﬁ
(A) Faeia,c3d //
H(C), | Fa 2, b c

ariter fomam)

(B) Faab,c3d
(D) Faa,b3Rd

- (B) aﬂﬂf&i A
; ’oe
oy declared “thc 'status of women should also be raised and women should be trained to take a larger and mc
intelligent interest in public affairs” at the Maharashtra Provincial Conference in May, 1928?
(A) Subhash Chandra Bose (B) Bhagat Singh N
(C) Mahatma Gandhi D) J.L.Nehru
(E) Question not attempted
: e wE-1928 B R g A “ﬁm&ﬁﬁﬁuﬁm a a?r{ r g
ﬁaﬁﬁaﬂtmﬁﬁmﬁiﬁmiﬁﬁﬂuﬁfmﬁﬁmmm | =Tfew 3R wfRermatt
Yy gy IR A 57 swrer e gl
oy el (D) 3 ve dew
59)’ mﬁaﬂ'ﬂ a4
- 18

Al5]

[ P.T



80  The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) is
108 m2. Find its volume.
@mma&mmmamﬁmﬁmsma mwm@mﬁmmww
108 mz%immmﬂﬁw (J

A) 125m? ™ (B) 256 m? N
© 216m? h (D) 225m e
(B) Question not atternp{ed / STTARE % |
..... t
90 fr=fafRas o=t ® “IUTGF‘EI Ly ;{3
a.  wam b wsl '
c. Bt i d. fardwom [
e. : & W
B ﬁqmﬁﬁﬁﬁﬁu?f@mmmﬂﬁ g}
(A) FEAdARe R (B) *acie3i a ,&;
(C) Fawa3ilb 4 (D) HaAdcIHTd ;—!
® A1 Yy
91 Which of the folld“:ir_:‘g-isﬁot a medicinal plant? ; 2
(A)- Cor-chorwf cdpsularis (B) Ocimum sanctum "
(C)  Emblica officinalis- (D)  Curcumalonga (g
(E) Question not atterﬁfﬂed . {:;.i
frafafea g smar aﬂﬁtﬂq o 7 22 &
(A) aﬁz?ﬁm%qgarﬁa «B) I aRT 4
W%maw@;ﬁﬂﬁﬂ (D)  FIFHT AT ;;4
sﬁaﬁﬁ 5 Y *: ‘-_-_'_j
92 Which part from ashvagandha plant is used to make medicines?
(A) [Leaves- : (’B) i Roots L [
(C) Flowers : q (D) Shoots - X
(E)° Question not attempted ‘ {¥)
‘mmﬁﬁﬁﬁﬁﬁﬁﬁﬁmmm%ﬁmmmgv RSN TN+ ) )
(A) afRETE BT ﬁﬁfiﬁr f“? -
© i . = )
® oz
93  Natural rubber is a polyrrgsi of: : -
(A) Ethenc Led (B)  Butadiene X
(C) Ethylene {}-.’] (D)  Isoprene ( ‘l
(E)  Question not attemped {i *:
st Tt o o ifers 87 -
w4 By  RrEny N
(A) g Yo D) : 1)
() e b S v
(B) A i
A15] »x | [P.T.O,




94

Choose the odd one out.

(A) Aggregate (B) Accumulate
(C) Congregate (D) Disperse
(E)  Question not attempted
e = =F=
(A) Eehfera (B) wRm@FET
(C) A HT (D) fomfadm
(B) Ir{afau
95 There are five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram
Mobhan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin
Who is the second tallest? '
(A) Kamal (B) Arun
(C) Ram (D) Sachin
(E)  Question not attempted
uie 3R B- wfem, Fue, e, v st sRm s s e A o g, WW%H@T%I%?WRWW%! HEOT
e FAA § AT HA ? A AR DN
2 T T A TSI R &7 : :
B2V | B) . \ '
(C) T\ (D) == %ﬂ: G{H‘al A
(E) Agai@ws CHFET — £w
W -
96 Some symbols are represented by letters as shown below: {&‘-—f—
9 Sreftehi <t Teri gr Siiar ¥ S 6 S R man &
+lL=-Ix|l=l=|>|< i
B|G|E|C|D|A|F N 3
Which of the following expression is most appropriate? \s7 5 e q_'\i C.‘Q“?’
=1 % @ =9 w1 walfas sugws =ivw & e 3 ,‘5-75'7"
&%) 15CsF8c4Bec3 IS= S :% " (B) 15ASESCA4B6E3 ;.'2~°°
(C) 15C15B8F4B6C2 (D) 15B 5G 8B 4G 6F 3 1
uestion not attempted / 3 B
. Ql.ﬁ-\:"*r% p“*"??é%* i R %'\-L\b' G.QL
97 The perimeter of a r&n%‘lgie is 90 m. If its length is twice its breadth, then its area is: = B ¢
@maﬁmgom%mﬁmmﬁmag@aammg, g0\ 9"&
(A) 460 m’ By 420 m? \qq"j[j
(C) 450m* (D) 380m’ {1 0 L R
(E)  Question not attempted / TR wx
08 The average monthly income of ‘A’ and ‘B’ is T 6,000, that of ‘B’ and ‘C’ is ¥ 5,500 and that of ‘A’ and ‘C* is
5250. What is ‘A’’s monthly income?
A 3t B 1 afraa mife 3 T 6,000 2, Bmcaﬁraﬁmmﬁmmissouaﬂtaaﬂtcaﬁaﬂmmm
?stgﬁﬁAaﬁmﬁlﬂ?me’ﬂ? .
(a) 5750 - (B) 6,200
© Z 6,250 y b (D) 6,450
() Question not attempted / ST "
a15] 2 _

[ P.T.O-




99  Which of the following is incorrectly matched?

(A) Plaster of Paris - CaSO, 5 HO (B) Baking soda - NaHCO,
(C) Washing soda - Na,CO, (D) Bleaching powder - CaO
(E) Question not attempted :

Errfrfiaa & & fe firam w7 @

(A) TR 3T UiE- CaSO,‘% H,0 (B) AT EIST NaHCO,

(C) R EIST - Na,CO,
(E) Tguia ua

Lol T
100 Given below are two statements:
Statement (1) : ‘KARYA’ is a program of department of science and technology, government of Rajasthan.

Statement (I1) : ‘KARYA’ aims to provide short term research opportunities to students of basic sciences at graduate

i) sATFIT 9138t-Ca0

level only.

In light of the above statements, choose the most appropriate answer from the options given below:
(A) Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D) Both Statement (1) and Statement (II) are incorrect.

(E) Question not attempted

#r2 3 wue frg e E

wUT-1 :m&(&ARYA)ﬁﬁHQ?W%ﬂWWWW@sm@

= - I : @ (KARYA) T T St T o BT S et 3 o Frfern i 799U Y YT HET 2
Iadeh FHUAT 6 1Tl Srafiad Rreedt § & aatfie J9ge® WS

(A) T (1) T 2 g e () TEa (B) = (1) T & foheg e (1) w e
ey F D ST (11) SHT FE 8l (D) U (I) IR FHA (1) SHT
(E) TgARa s

101  Given below are two statements:
Statement (I) : Gram is grown as “Rabi” crop in Rajasthan,
Statement (II) ¢ Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below
(A) Statement (1) is correct but Statement (II) is incorrect. ;
(B) Statement (1) is incorrect but Statement (II) is correct,
(C) Both Statement (I) and Statement (1I) are correct.
(D) Both Statement (I) and Statement (I1) are incorrect.

(E)  Question not attempted
m(l):wwﬁ‘wﬁ’w%wﬁmwgl
m(ll):ﬁaﬁmﬂﬁ-w'aﬂr"@ﬂ?aﬁmﬁmm%‘
waﬁﬁ%{mﬁ'ﬁﬁqmﬁqﬁﬂﬁwWWﬁ|

(A) aﬁmu)m%fqﬁmm(mw%l (B)
(o T (1) AT FET (1) & @l €l

() S A
A15] X

© FE (1) T & Qe e (1) W Ry
) (D) SR (11) A e

21

[P.T.0,
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A <

1 2
102 Which of the following taxes is not levied and collected by the State Government of Rajasthan?

(A) Road/Vehicle Tax (B)

Income Taz,t &g,
(C) Taxes on Agricultural Income (D)

Taxes on ldrid and structure
{¥y

ﬁmﬁﬁ%ﬁwmmmmmamﬁmﬁ?
(A) Hﬁ!ﬂﬁ?m (B) gy H¢

(E)  Question not attempted

gt
©) v smrapER S i v AR
(E)  37gaia 94| g}
v
103 Which of the follbWing is not a salient feature of the Indian Constitution?
" (A)  Provisions'dfawn from various sources (B) Provision q&})ual citizenship
(C)  Lengtheist written Constitution (D)  Universal )?LFI%IH Franchise
(E)  Question ot attempted (h
ﬁnﬁf@aﬁﬂaﬁ%ﬁmﬁﬁm#@@ﬁﬁwqﬁ% £
(A) T Gt fo m yau AB) Sl amiiat s saue
(C) = feritaa s (D) Wit aFEF Tarfer
() srahass i‘li T
v
104

L)
Which of the follgv_.y'ng statements is not correct about S

(A)  The chief of the tribe is called Tapara.
(B)

ahariya tribe of R?j asthan?

L
They worship several Gods and Goddesses, but their main god is

“Behru Bharani”,
(C) The habidﬁﬁf Sahariya is South-Eastern Rajasthan, that too iimitétf*;o, Shahabad and Kishanganj tehsils of
Baran dist{;!(}!t. A
(D) They have ,“%otra" like Chauhan, Dodia etc:

=§

. (E)  Question rilq‘tialtempted 3?;3’_
' ﬁ%ﬁﬁ?ﬁt@wwﬁmﬁmm%a&ﬁwqﬁ@ o
—AAT | T ST fREar i quret s s )

1§ (B) . aﬁﬁimﬁﬁwmﬁwmsﬁaﬁgﬁw@ foss
(©)  wefar 1 e afiorqef oo § & sicaw off ang

4 £y A
. . et 3 e S s e e @ wifira )
(D) sﬁﬁ%ﬁi@ﬁmwﬁ%ﬂ“‘ﬁ?’%%l 4
(B)  orqafe sy . 4
¢ ?-.l { *-:3
=
105  Arrange the following States / UT of India in descending order according tH \!:;heir Population density (Census 201 1)
a Kerala b West Bengal
c Delhi d filﬁar
m%ﬁmﬁaﬁaﬂrﬁaﬁfmmﬁzon ﬁm%wwmm% STTAR T (23 7my 3
afeya Fifsg - LS
. WL Lk
s Ty —d. forete
Choose the most @ppropriate answer from the options given below: N
5 : vk
ﬁﬁqwﬁﬂﬁ,amﬁmwmgﬁ: ;l;
(A) cadb (4 ® adve 4
b ot
(€)' adcb !“jl Br ¢ d,b,a
(E)  Question fédattempted / STafa war
A15] sk | [ P.T.0.
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106 Given below are two statements:

Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (II) : This soil contains enough quantity of Nitrogen.
In light of the above statements, choose the maost appropriate ans‘.;ver from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.
(B)" Statement (I) is incorrect but Statement (II) is correct.
(C)  Both Statement (1) and Statement (IT) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted
= @ e e g &:
FUA (1) : Seiie [t 7 waty aen § drer, weeie e I =T T ST &, ST, U, 1% 3t 37y T S ST
FHAT & IcqTe o foru a7rest )
wUA (1) : 39 ot o qaty e § [rge awf s )
ST YT & SATelh A, A= g e et § & waiferes sugew I T

- (A) W(I)H‘éf%éﬁr—rw (11) 7T B (B) %A (I) ToId & T T (11) W 21

ey A (1) 3 (1) AT we ) (D) & (I) 3R A (11) SH1 TTerdt &

(B) orgaf@yy

107 Who was known as ¢ Frontier Gandhi’?
(A) Khan Abdul Gaffar Khan (B) Mohd. Rasooq
(C) Mahatma Gandhi (D) Sardar Patel
(E)  Question not attempted

“wfimia i %ﬁmﬁ%{’xmmw

T ST T | (B)  er wF
(C) wErETRR (D) wWERWE
(E) A{dfi@yA

108 The Khilafat movement was led by - .
(A) Bal Gangadhar Tilak and Vipin Chandra Pal (B)  Maharaja Hari Singh and Shaukat Alj

(C) Mahatma Gandhi and Khan Abdul Gaﬁ"ar_ Khan (D) Mohammad Ali and Shaukat Al
(E) Quesnon not attempted

FereTora STTETe T e fohaeh g fopar 7w e _ :
mmﬁﬁaﬁﬁﬁqﬂw ’ (B) WeRTT &Rt fife 3t L

(A
(A) TraTedT T 3T @ 27sge THERR W (D)  TvewrE aveft afv vie arclt
A - 3

(E) SAgara s

109  The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midi
August 1947, is known as: (Choose the most appropriate option from below)
(A)  Tryst with Destiny (B)  Hope for the better future
(C)  Wings of Challenges (D)  Independent India

(E)  Question not attempted B
mmwmmq:ﬁmmamﬁmmlw 14-15 37Tt Y earafy 5y o e 0 ﬁ%q:mgm

inght on 14-15

m%(ﬁnnnmwﬁmiﬁ)
(a) femfazsfes B)  B% s v
(c) fama i Fa~ APy 3Ry ey
(E) Hufd 94
23 :
el 8 [ P.T.Q,
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efta travelled 20 km, then
X0 Ranjan travelled 15 km northward, then turned right and travelled 10 km, then turned left and tra

i‘«.q
(A) 35km (B) 45km {3
(C) 30km ) (D) 25km 'S8
(E Question not attempted 93 o :
%mﬁﬁlsﬁhw,sﬁmzﬁﬁmwwwm.mmﬂmw , o2, RA
(Y : & . : . 2L
mwlDWWWIWWmﬁgﬂmgﬁw | 16
&7 asheRt v (B) 45 foprft TS
(©) 30 fFd ‘;} @) 2sfeft ) 5
(E) orafmws ¥ '
! /{ll A group of girls stg;@s in a single line. One girl is nineteenth in order from h{.gql the ends. How many girls are there
| in the class? £ 'Fi ‘
| wﬁm@wﬁ%mﬁa@%laﬁ%ﬁﬂ@m19§mﬁa§ré|%ﬁ?ﬁﬁ%a=ﬁmﬁ?
(A) 35 O By 37 & 3o o ¥
(C) 40 N (D) 38 ) \){\ C
(E)  Question no_i’;i_z}tempted / STTAE e A P \L
112 Where is the principal seat of Rajasthan High Court located? v PSS“\\'\
(A) Kota (B)  Jodhpur
(C) Barmer g (D)  Ajmer £
(E)  Question nnignempted &)
TSR =9 =mane 3t wen Hie (Rifguer iz ) =t fog 29 )
L@ wE g, @& Suw Oy
© =N ey (D)  3FemR N
(B) oruiw@wa v
L) ty]
113 Who was the State Election Commissioner of Rajasthan during 20239 1
(A)  Madukar Gupta (B)  Amar Singh Rathor
(C) NR. Bhasin, (D) Inderjit Khanpa,
(E)  Question not attempted W
;. ad 2023 ﬁmi:mgqﬁ AT 1 A7 P
| AT, s} D) IfaE= .
| (C) T S ( QY
. (E) Hﬂ'ﬂﬁ?{'ﬂ"ﬂ' qoid t=q
| oy £ L
114 e drem oo & v
HUA - 1 : I (ohaTeAT 1 Hre geamy et & 78 B AT PH T FA I J vy
U - 11 : Gl ATl 1 %t ok ot wga 21 e 3 fayem gy 7o U T B ey
Wm%mﬁﬁﬁmﬁﬁmﬁﬁmmmgﬁ: W -
(A) FA1FE g FA N sma g (B) as%nlma%“!"ﬁwlmq“m%l
(C) A 1 i 1L T E (D) o 1 3R 11 3 orarey 3,
(E) ot ¢ - ‘*"\i
r=< s
115 *3THE’ 1 aure e - g _ l:}
by FTR # gar gl (B) S & 3
(©) R ICICOREC (D) e AT
(E) eaf@ud "
A15] s

turned left and travelled 10 km. How far was Ranjan from the starting point?
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116 fr=fafaa & 9 fra wesr 7 ufa Iuet sy ee

a.  oH -
p— b. W&
C. - : '
c. o i - Lﬁw“ f»-\
) g o ferpedt L0 s o »
i waifas Iuge ST ; O
(A) Faeia, b3 c- i ' 'S4
(C) Haac,d3iRe m; (B) FHaAb, ¢ A d- %)
' . LA (D 4
(E)  Srgaia \—Faeia, d e S?
. o L ]
W T
117 Bifocal | i od '
" Cc::s is used to correct the defect of: (Choose the most appropriate option from!;glow)
ataract
(C) Myopia [ (B)  Hypermetropia
(D)  Presbyopia f‘;

(E) Question not altemptclé_}

e S T ST Rt 3 & R o

= . i waﬁgm({;a:m faperr s &7 (et 8§ el I forshed )
i TR 0O p

©) FeegEam N
D D qegfear A (FeT |
(E) gdiawd ;31 w0 e S _ o
N L :
118 The adult human dental formula is:
mma‘aqg%: [
2123 \0
(A) ) (B) 220 :
o 3113 G BB B
2112 ' @) 2122 0
(E)  Question not attempted 4 Frgaid I o |
i3 E)
i

119 Given below are two statements:
): Blood transfusion is 2 method in

n to anothef.
L0 g : =
first bloog'__t'ransfus:on was carried out by Karl Landsteiner Ej"’f
A M

se the most appropriate answer from the options/given below:

Smtemcnt (l WhiCh blood or blood

products are transferred fr ;
system of one perso i oip e cirvulphory
Statement (II): The

'S
In light of the above statcmcgts], choo

£
rue but Statement (11) is false. :
(& 0

(A) Statement (1) is t
(B) Statement (I) 1s false ?uti Statcmen\t (11) is true. -3
(C) Both Statement 4))] angi;ﬁtalcment (II) are true. i}
(D) Both Statement (1) and Statement (I1) are false. By
(E) Question not attempted
o5 21 e fRg M E: i — e
e | : T T (GTEFE e IS s =i 1 gt =i 3 o WO
FwaA Il : el T AT I € 2 g0 R o )
e e e 4 faedt 1 A SO I a
a) FH (J)m%ﬁqmﬁgn)aﬂ%i (B) e (1) srerar & fofeg b0 (1) e @)
o wA@REFAE #l (D) (1 s e 11y AT ST
® T
25
. [ P.T.O.
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120

‘Rane Jagpat Ra Marasya® was written to mourn the death of which ruler?
(A) Maharaja Jeevan Singh

(C) Maharaja Janak Singh
(E) Question not attempted

(B)  Maharaja Jaideep Singh
(D)  Maharaja Jagat Singh

T ST T T T T ) e e w3 R R ot
(A) WERIST SieH fig (B)  WenS s19d fig

(C) wersT 5 fiig Dy ngmmmﬁ‘ia

(B) orgvia wy

121 Which statements regarding Kuchamani Khayal are correct?
a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b. Chand Nilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
C. Kuchamani Khayal is not performed in an open theatre.
. d. In this Khayal, players of Dhol; Sarangi, Clarinet and Dholak are the main accompanists.
Choose the most appropriate answer from the options given below: ,
(A) ' &b, and conly (B)  a,bandd only
(C) b,canddonly (D) a,candd only
(E) Question not attempted
FEEvl T F AR A A A WA e
a.  FEm e wiHe T AR et un g g ferar mar em
b, i ey, e freer st s simer, et v v e e e
c. Tl T U ek Agamen (fruex) # fenfa 7@ frar smar )
d.  TH T H e, W, Wer 3R St aree e wedntt g 8
e few e fosredi # & waifie sugw e :
(JJ Faa,b3Rc (B) Facia, b3 dr
(C) SEsb,cHRd (D) Fada,c3Wd g
(E) SAaiaw™
122 Which fair was started by Kachhwaha's to cherish their victory over Chandra Meena?
(A) Khalkani Mata Donkey fair (B) Diggi Kalyan ji fair
(C) Bhartrhari fair : (D)  Pushkar fair
(E)  Question not attempted
% Hion W fasrg &1 3caa 9 & foe seansl g -9 den & e mam
(A) EeviT JTd S Jel Wy feuft s it dey
(C)  wreft Fe (D)  geRCiEn
(E) wafaqd
123  The Western Ghats are known as *Sahyadri’ in which state?
(A) Tamil Nadu (B)  Kerala
(C) Karnataka (D)  Maharashtra
(E)  Question not attempted ‘ I
ofegedy wret 1 o T A & AW Q ST St 82
By dfirerTg (B)  Fa
) FAE (D) e
(B) FRa A
26
A15]

—————m TR I T v R R WS R S T LT TR e

| P.T.0:



124

It is mainly peat and lignite type of coal.

Which of the following statements is not correct about the Gondwana Coal?

Iy

0

rrf\-

(A)
Raniganj, Jh T.
(B) aniganj, Jharia, Tata Pgm and Himgiri are some of the important coal mines of Gondwana formation.
(C) The Gondwana coal belong to the carboniferous period. e B
@) Itis found in Damodar, Mahanadi, Godavari and Narmada valley. ™
(E) Question not attempted (¥ ™
aﬁuﬁ%aﬁﬂﬁﬁrﬂﬁaﬁﬁmmaﬁﬂﬁ%‘z ")
(a) TETE: ﬁEGﬂTWWWEﬁWﬁ i
(8) TS, S, maﬁﬁnﬁﬁ rhzamrama?r@gg@m@ﬁ%l g
© ﬁmmmﬁﬁmmﬂmﬁﬂﬁl .
(D) T R, T, THATeRY AT o e e s ¥
(E) i@ ¥H P Vi
s
i %
125 The first Vice Chairman of NlTi AYOG was ) 5
¥
(A) Nandan Nilekani i_f} (B)  Arvind Panagariya 7l
(C) Narendra Modi ,;Q ! (D)  Arun Jaitley L)
(E)  Question not attempted i 1
Hfy TR 3 Wer JUTEAE A A2
(A) e Frereoht L srefig yAmTTGAT P
() FEuE vl (D) 3% Siedt Te)
(E) aiasd 3 t'-.r )
126 In which of the following budget “year, the Railway Budget was merged with the Union Budget?
ﬁqﬁﬁaﬂﬂﬁﬁﬁﬁma&ﬁﬁm e T 3 eie B S feRar T 2 £
(A) 2017-18 R (B) 2018-19 j::'
& 2015-16 d (D) 2016-17 _—=_:_|=
(E) Question not attempted /3 Hﬂﬂka T
127 The rate at which Reserve Bank'« of India lends money to commercial banks is called ___ =~
(A) SLR i (B) Repo Rate g«:,
(©) CRR (D) Reverse Repo Rate a-g'x'
(E) Quesuon not attempted i {’}’1
ﬁﬁ?ﬂﬁqﬁ?ﬁﬂf@é aﬁ%ﬂﬁaﬁaﬁmmi"ﬂ%@ Fed Bl o
'3 e LB} ﬁh L
(A) TUH. T AR P 3 d
g boo- 3 (D) fedwiE 5
(C) Hi. 3. AR - i i)
(E) 37aia 94 ¢ "3 .
128 3, thc ﬁ:sca] deficit is estimated tolremain __ 7" of GDP in 2024-25.
As per the Budget 2024-2 e 2024-25 & =
Tz 2024-25 1 AT F aﬁ'GTf _ & “E"f' Ej 3w
(A) 5.8% 9% &
(©) 5‘ 1% (D) 5.5% O
(E)  Question not attempted I/ ygﬂﬂﬁg e b
f Rajasthan? ™
129 Which of the following 2r¢ '@ C?Sh R (B) B =
(A) Bajra and Coriandef &3 . arley and oil seeds :‘,_l
(C)  Cotton and TobaccO ( i ) Wheat and Rice bl 4
(E)  Question not d"cml’“'d | FOd 87 '
frtfafaa 1 & #0a # T4 A & & s
sy e ufaan § f : 3 forere
C) g o darE (D) 7 st arrrer
(E) zafta a4
AlS) % 27

[P.T.O,



130  Indira Gandhi Canal ends in which of the following districts of Rajasthan?

(A) Bharatpur (B) Udaipur
(€)  Jodhpur (D) Jaisalmer
(E)  Question not attempted

e el e Fraforfiaa @ @ oo & fre B o B 20

(A) AR : (B) X
© g &) dww
(E) “orguita w
131  Which city is known as ‘Food Basket of Rajasthan’?
(A) Bikaner (B) Ajmer
(C) Alwar (D)  Sri Ganganagar
(E)  Question not attempted
T8 TR Y T B @ e & S S 2
(A) R (B) 3SR
(C) &ax Dy i
() sIEiaus
132 Pradhan Mantri Krishi Sinchaiyee Yojana (PMKSY) was implemented in Rajasthan from the year
Wﬁmﬁﬁﬁﬁﬂﬁﬁw@w‘h 9 & Ay Y T ofty
( 9,)/ 2019-20 (B) 2020-21
I 2015-16 (D) 2017-18
(E)  Question not attempted / TR 92y
133 Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A)  They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(B)  The higher reaches of this region are inhabited by Monpa. . . P{_,\G‘
(C) Itisaregion of high mountains peaks. : w
(D)  This region has well distributed rainfal] throughout the years.
(E)  Question not attempted $3) N‘k
aﬁfﬁnaﬂtﬁqﬁaﬁq%mm%aﬁﬁﬁwﬁ%aﬂqmquﬁ%‘? R
(A) Al 3 Surer femrera o o # v femerr @ Ry
(B) 39 &F & 3= T T AT 1 P 3
4€)  ¥8 3= vdd Rrati w1 &= @)
(D) 38 &= T ¥ 9d= a9l TS Wb @ frafa 2
(E) uf@wy
134 Duduma waterfall is located in which of the following state?
(A) Jharkahand (B) Odisha
(C) West Bengal (D)  Andhra Pradesh
(E) Qucstion not attempted
o 1 e et e fe &7
(a) wwEE (B e
oy ufam e (D) arivr e
(B) gafasd
28
A15] 3k
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135 Name the left bank tributary of the Brahmaputra River?
(A)  Burhi Dihing
(C) Subansin
(E)  Question not attempted
TR T & R T Y TEreh e 1 A T3 -

(B) Sankosh
(D) Kameng

A)  TERfE (B) €&
©) g (D).
(E) IgaRaww
136 In 1859, ‘Relief of Lucknow” painting was painted by
(A)  Oubam (B) Havelock
(C)  Thomas Jones Barker (D)  Campbell
(E)  Question not attempted ;
Torah TR 1859 #, “fefis ST @S 7 (painting) s=rft i ofto
(A) 3w (B) ew
Ly HmE S A ®) e
(E) qafa sy
137 The University Education Commission was set-up' in the year under the ChairmanShiP of. _
1. TH. T St sreverar # Ryafarer fve s T e A i gl
(A) 1951 3 ‘i By 1953
(C) 1947 (D) 1948
“(E)  Question not attempted / AR TH
138 Given b;iow are two statements: )
Statement (I) : 1\‘:{051 of: the rulers of the_princely states after Independence of India were averse to join the Constituent
Assembly.
Statement (II) : This response of rulers of the princely states meant that after independence there was g very real
possibility that India would get further divided into a number of small countries,
In light of the above statements, choose the meost appropriate answer from the options given below:
(A) Statement (I) is correct but Statement (II) is incorrect.
(B) Statement () is incorrect but Statement (II) is correct.
(©)  Both Statement (1) and Statement (11) are correct.
(D) Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted
%A 5.
:(Tﬁgﬁm%mm%ﬁmmmﬁﬂ@%ﬁw A
o (1) : 7T ToETEl i T ST meﬁﬁwmiﬁmﬁﬂ‘ﬁﬁmwmﬁﬁmﬂﬁﬁ%ﬁﬁﬂgml
ires et 3 sreite , A1 feo o fasredt @ e g g
(A)  F9 (1) @1 & Afe e (1) Terd 8 10 (1) Mer & e s (1) W
© 97 (1) S g (1) 21 aél 8 (D) =¥ (1) e (1) @1 @ rera &)
(B) 3raf@wd -
Al5]  5f
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139 Tr=fofea § & R wemiy AYE A B-

BT
y1.°1

(A) v EE Y (B) o e b
(C) ==Eh Wﬁ:ﬁ%‘ B mumﬁaanm!‘s:;
E W i
6 i o o
140 <t 8P T g b o
(]
(A) ﬁmﬁaﬁmr 1 B TEHEET '
(©) wr@rd s ©) fawwedm
(E W =i
) SRR
141 Which of the following words will come second in the English dictionary? . o i
3R v ﬁ%aﬁqmw@mmm o
(A) Maternal " (B) Ma'gqify f‘?
Magnetic ¢ (D)  Magical - *‘f‘\}
(E)  Question not attempted / A wa . Qﬁf -
v 3, 8
142 What will come in place of 2’ H us ° il
“? T R | 3 S v C‘:’. e ==
[ \3
60, 45, 32,21, ? . 2 L
@ 14 - ® 1 e
© 16 (s} oy 12 L
(E)  Question not attempted / TTARE W 4
N CO!q‘Sp:"Q\I’Q?:‘\_J\
143. 'What will come in placg of *?* 1T A':\-—&T’I\ —
“2° 3 T W T ST w12 Al Al
0 - L)
o |-l o Kl N
>
S0 0& AT
‘C'ID- ~Om| ? munt
= L&
C\} f’&é
(A) i (8) Q‘ E;i
C Ty , )
(©) P (D) ‘d)\ e
(E)  Question not attempted / 31afta war .
'l‘l B I -‘-J‘-
144  Which of the ful!ow&:ﬁ districts of Rajasthan is famous for the highest pmdfiij
the statc ? prn of wheat in year 202 23
. o) &3 -23 1
- (A) Bunfll 4 (B) Kota "ﬁ"'\j
(C)  Sri Ganganagdr™ (D) Jaisalmer ;"--i
(E)  Question not attempted 0y
m%ﬁmﬁamﬁﬁwﬁma&202g-23ﬁmﬂﬁ{%:na?ﬁ4mmm%%quﬁ“,
(a) @ . (B) el '
@~ AT (D) Jwerr
(E) rgaRawd
A15] Nk =

d‘.l.
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145 Which among the followin ’ S
g 1S not an Agro based Industry in th f Rai
(A) Iron and Steel Industry '('.:3)“ ::: stlz:lc clrf (l;{ajasthan? .
(C) Dal Mills otton Industry
2 . D . .

146

147

148

149

15p

s %

®o'mq°d' Na_co

e T 8 e o st st g &

SICEY VI SRNNE e 0P
/fg/?ﬂaﬁ:ﬁ (B) = it \4&\"\”
(E) orgefa v | o (D) S r{

Which of the following is not a web browser? e ; . b
(A) Opera T i '
mai -
(C) Mozilla Firefox D) Safari .
(E)  Question not attempted
fr=fafes § @ S s s i 2
(A) T By
(E) gaf@ux ’ )
For the sentence given, choor:e the most appropriate answer i:} the passive voice from the options bcic;w:
My sister baked a cake. ! g _
(A) A cake was baked by my sister. ) " ' . J
(B) A cake was being baked by my sister. "<
(C) A cake had been baked by my sister. i
( A cake is being baked by my sister.
(E)  Question not attempted ;
Complete the given sentence choosing the most appropriate wjfd i‘ﬁ’)in' the "o:[_:!ior,s below:
My brother is in the Indian Foreign Services and can speak many languages. He is a
(A)  Philatelist - L:B)?; ‘hl%l_llgu_ll%i\‘
(C) Pessimist' * * =+ . olyglot
(E)  Question not attempted,
Complete the given sentence choosing the most approp riate word from the options below:
' ith him for his lack of sym h it
S annoyct_i wi ; ympathy for the victim.
. hE_rimarkcd that she (B el ic
(A) feelinge< ) felt
©)  will feel :
(E)  Question not attempted :
In the sentence given, replace the underlined words, choosing the maosy Suitable

idiom from the i .
C Optiog
H ;thout being given 4 reason. 5 b‘:l(’“’:
€ was arrested without bel

(A)  atodds and ends
(C)  over and above
(E) Question not attempted .

(B)  outand oy,

(IM— for no rhyme o reason
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